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STRAIGHT LINES

1. At which point should the origin be shifted so that co-

ordinates of point (2, 5) become (1, — 4) ?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XzwL7wybD77F

2.1f origin is shifted to the point (2, 3) then what will be the
transformed equation of the straight line2z —y 4+ 5 = 0in

the new XY -axes ?

o Watch Video Solution

3. If origin is shifted to the point ( — 1, 2) then what will be
the transformed equation of the curve

2% + y*> — 3z + 4y — 1 = 0in the new axes ?

° Watch Video Solution

4.If origin is shifted to the point (a, b) then what will be the
transformed equation of the curve

(2 —a)’ + (y—b)° =12


https://dl.doubtnut.com/l/_3YMkYxYKZsc8
https://dl.doubtnut.com/l/_LThQBSSBtdDm
https://dl.doubtnut.com/l/_uTjyYkUYrQoz

° Watch Video Solution

5. Find a point at which origin is shifted such that
transformed equation of z* + zy — 3z — y + 2 = 0 has no
first degree term and constant term. Also find the

transformed equation.

o View Text Solution

6. Find a point at which origin is shifted such that
transformed equation of 222 + y* — 122y + 16 = 0 has no

term containing  and constant term.

o View Text Solution



https://dl.doubtnut.com/l/_uTjyYkUYrQoz
https://dl.doubtnut.com/l/_WXWAMlSPZShO
https://dl.doubtnut.com/l/_in0zSuiyc6sw
https://dl.doubtnut.com/l/_3aVI2s6LtGxb

7. Prove that the area of triangle remains invariant on

transforming the axes.

o View Text Solution

8.Find the slope of a line if its inclination is (7)30°, (i7)135°.

o Watch Video Solution

9. Find the angle of inclination of the line whose slope is
()—=. (i) - 3
1)——, (72) — /3.

V3

o Watch Video Solution



https://dl.doubtnut.com/l/_3aVI2s6LtGxb
https://dl.doubtnut.com/l/_RTwH6w5odgaV
https://dl.doubtnut.com/l/_nkDxGq87YpMJ

10. Find sum of the slope of the lines passing through the
following points :
(4)(0, 3) and (5, 1)
(i7)( — 1,2) and (2, 5)
A.-3/5
B.3/5

C.7/5

D. 1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_BUrcNQfDRfnj

1. If the slope of a line passing through the points (z, 1)

4
and ( — 3,5) is 3 , find the value of z.

Ax= —6
B.x =6
Cx= —17
D.x =17
Answer: A

o Watch Video Solution

12. Find the angle between the line joining the points

(—1,3)and ( — 2,4) and X-axis.

I o Watch Video Solution


https://dl.doubtnut.com/l/_jgN8LB2XQKaU
https://dl.doubtnut.com/l/_hVzn1rEpVGO9

13. Show that the line joining the points (4, 5) and (1, 2) is

parallel to the line joining the points (9, — 2) and (12, 1).

° Watch Video Solution

14. Show that the line joining the points (2, — 6) and
( —4, — 8) is perpendicular to the line joining the points

(4, — 2) and (6, — 8).

o Watch Video Solution

15. If the points A(1, 3), B( — 2, 1), C(«x, 2) and D( — 1, 5)

are given and AB is perpendicular to C'D, find the value of =


https://dl.doubtnut.com/l/_hVzn1rEpVGO9
https://dl.doubtnut.com/l/_ZNfauEn7NPMd
https://dl.doubtnut.com/l/_HP5kmXDuwIEe
https://dl.doubtnut.com/l/_zkwb49kte1A7

o Watch Video Solution

16. Without using Pythagoras theorem, show that the points
A(2,1), B(5,4) and C(3,6) are the vertices of a right-

angled triangle.

o Watch Video Solution

17.1f the points P(1,5), Q( — 1, 1) and R(4, y) are collinear,

find the value of y.

Ay= —12

B.y = 12


https://dl.doubtnut.com/l/_zkwb49kte1A7
https://dl.doubtnut.com/l/_vOXw5WNioqZ1
https://dl.doubtnut.com/l/_T1Yt20D8HLoS

Answer: C

o Watch Video Solution

18. Using slopes, prove that the points A( — 2, — 1), B(1, 0)

,C(4, 3) and D(1, 2) are the vertices of a parallelogram.

o Watch Video Solution

19. If three points A(h, 0), P(a,b)and B(0, k) lie on a line,

a b
how that: — — = 1.
show tha h—l-k

o Watch Video Solution



https://dl.doubtnut.com/l/_T1Yt20D8HLoS
https://dl.doubtnut.com/l/_jggpVcu7mBUa
https://dl.doubtnut.com/l/_g1bo8NOTqE0N

1
20. The slopes of two lines are 3 and 3. Find the angle

between them.

o Watch Video Solution

s
21. If the angle between two lines is Zand slope of one of

the lines is %, find the slope of the other line.

o Watch Video Solution

22. In Figure, time and distance graph of a linear motion is
given. Two positions of time and distance are recorded as,

when T =0, D =2 and when T = 3, D = 8. Using the concept of


https://dl.doubtnut.com/l/_g1bo8NOTqE0N
https://dl.doubtnut.com/l/_H6S9I5UMiap3
https://dl.doubtnut.com/l/_DlUUTnIsytGx
https://dl.doubtnut.com/l/_jYAoxDw4Ay9l

slope, find law of motion, i.e.,, how distance depends upon
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o Watch Video Solution

23. Find the equation of a line parallel to X-axis and 5 unit

above it.

o Watch Video Solution



https://dl.doubtnut.com/l/_jYAoxDw4Ay9l
https://dl.doubtnut.com/l/_By112IAx8zqb

24. Find the equation of a line parallel to Y-axis and at a

distance of 3 unit on left side of it.

o Watch Video Solution

25. Find the equation of lines drawn parallel to co-ordinate

axes and passing through the point ( — 1, 4).

o Watch Video Solution

26. Find the equation of a line passing through the point

1
( — 1, 3) and whose slope is 3

o Watch Video Solution



https://dl.doubtnut.com/l/_ph5tlNKlIZgq
https://dl.doubtnut.com/l/_9BaF7skPqfwK
https://dl.doubtnut.com/l/_QNXS3ABxj62b
https://dl.doubtnut.com/l/_2xETjtH29u5g

27. Find the equation of a line passing through the point

(2, — 3) and makes an angle of 45° from X-axis.

° Watch Video Solution

28. Find the equation of a line passing through the points

(2,5) and ( — 3, 1).

° Watch Video Solution

29. Prove that the points A(4,1), B( — 2,3) and C( — 5, 4)
are collinear. Also find the equation of the line passing

through these points.

o Watch Video Solution



https://dl.doubtnut.com/l/_2xETjtH29u5g
https://dl.doubtnut.com/l/_ghHDQqs3pngB
https://dl.doubtnut.com/l/_0dGge8aihmky
https://dl.doubtnut.com/l/_rx82kawmo6pE

30. Find the equation of the sides of AABC whose vertices

are A(2, — 3),B(0,1) and C(4, 2).

o Watch Video Solution

31. The vertices of AABC are A( —2,4), B(5,5) and

C(4, — 2).Find the equation of the bisector of ZA.

o Watch Video Solution

32. Find the equation of the perpendicular bisector of the

line joining the points (1, 3) and ( — 2, 6).

o Watch Video Solution



https://dl.doubtnut.com/l/_rx82kawmo6pE
https://dl.doubtnut.com/l/_4yZA8nO0yqvs
https://dl.doubtnut.com/l/_FPLfPSQzCORi
https://dl.doubtnut.com/l/_bQq0HomrUPZR

33.Find the equation of a line whose slope is —2 and whose

intercept on Y'-axis is 5.

o Watch Video Solution

34. Find the equation of a line which cuts an intercept of 5
units from negative direction of Y-axis and makes an angle

of 135° from the positive direction of X-axis.

o Watch Video Solution

35.Find the equation of a line whose slope is 3 intersects X-

axis on left side at a distance of 2 untis from origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_bQq0HomrUPZR
https://dl.doubtnut.com/l/_P3zLMLdp0ZXw
https://dl.doubtnut.com/l/_llMASyV6MWvN
https://dl.doubtnut.com/l/_ILcnKLGEQsAA

36. Find the equation of a line which cuts an intercept of 3

and —4 units from X-axis and Y -axis respectively.

o Watch Video Solution

37. Find the length of intercepts cuts on axes from the line

4z — by = 20.

o Watch Video Solution

38. Find the equation of a line which passes through the
point (5,1) and cuts, equal in magnitude but opposite in

sign, intercepts on axes.

o Watch Video Solution



https://dl.doubtnut.com/l/_ILcnKLGEQsAA
https://dl.doubtnut.com/l/_AgheD4bqBE8w
https://dl.doubtnut.com/l/_KHN11aZPXgcD

39. Find the equation of line which passes through the point

(2, 3) and the sum of whose intercepts on axes is 10.

o Watch Video Solution

40. If the mid-point of the line segment between the axes of

aline is (p, q) then find the equation of the line.

o Watch Video Solution

41. Find the area of triangle formed by the line

ar + by = 2ab and the co-ordinate axes.

o Watch Video Solution



https://dl.doubtnut.com/l/_rLP9yfCgiZ36
https://dl.doubtnut.com/l/_qkpZcLHCNf1F
https://dl.doubtnut.com/l/_W8Zt8Jl5GBCM
https://dl.doubtnut.com/l/_vkQkegiWkO9x

42. Find the equation of a line which is at a distance of 5
units from origin and the perpendicular from origin to this
line makes an angle a from the positive direction of X-axis
here t = —.
where tana = <
Adx +4y =250r3z +4y+25=0
B.4dr + 3y = 25o0rdx +3y+25=0

C.3z — 4y = 250r3z — 4y + 25 = 0

D.dx — 3y = 2bordzx —3y+ 25 =0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vkQkegiWkO9x

43. Find the equation of a line which is at a distance of 5
units from origin and the perpendicular from origin to this

line makes an angle of 30° from the positive direction of X-

axis.

° Watch Video Solution

44. Find the length of intercepts cuts on axes from the line
xsina + ycos a = sin2a and the co-ordinates of the mid-

point of the line segment lies between the axes.

° Watch Video Solution

45. Prove that the equation of a line passes through the

3

point (acos a, asin®a) and perpendicular to the line


https://dl.doubtnut.com/l/_wTp13LOXjlFV
https://dl.doubtnut.com/l/_4eKnaJWGsQYu
https://dl.doubtnut.com/l/_FKFIk0WWyglj

ztana + y = asinais cosa — ysina — a cos 2a.

o Watch Video Solution

46.Find the co-ordinates of the foot of perpendicular drawn

from the point (3, — 3) to thelinez — 2y = 4.

o Watch Video Solution

47.The fahrenheit "F'’ and Kelvin 'K’ temperatures show a
linear relation. If at F = 32, K = 273 and at F = 212,
K = 373, then find K in terms of F'. Also find the value of F'

when K = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_FKFIk0WWyglj
https://dl.doubtnut.com/l/_IeEmR6RzRS6r
https://dl.doubtnut.com/l/_jqHkalltL4Qz
https://dl.doubtnut.com/l/_toZQBq6sQI8k

48. Assuming that straight lines work as the plane mirror for
a point, find the image of the point (1, 2) in the line

r—3y+4=0.

o Watch Video Solution

49. The equation of a line is 3z + 4y — 10 = 0. Convert this
equation into :

(7) slope-intercept

(i7) intercept

(#ii) perpendicular form

o Watch Video Solution



https://dl.doubtnut.com/l/_toZQBq6sQI8k
https://dl.doubtnut.com/l/_uFctkZawJkiH

50. Convert the equation 4x+5y+7=0 nto
perpendicular form and find the length of perpendicular

from origin.

o Watch Video Solution

51. Find the condition for two lines ajxz + by + ¢; = 0 and
asx + boy + co = 0 to be
() parallel

(i7) perpendicular

o Watch Video Solution

52. Find the angle between the following pairs of lines :

(i)r +2y—1=0and2xz —y+3=0


https://dl.doubtnut.com/l/_LuMZg9Ps7kZN
https://dl.doubtnut.com/l/_75WzcGOW16HY
https://dl.doubtnut.com/l/_kBU1iYusx2Mw

(id)y =5z +landy = — 3z + 2

o Watch Video Solution

53. Find the angle between the following pairs of lines :
(i)x +2y—1=0and2xz —y+3=0

(id)y =5z +landy = — 3z + 2

o Watch Video Solution

54. Find the equation of a line passing through the
intersection of the lines x +3y =4 and 2x —y =1 and

(0, 0) lies on this line.

o Watch Video Solution



https://dl.doubtnut.com/l/_kBU1iYusx2Mw
https://dl.doubtnut.com/l/_FkGfd7vEACZu
https://dl.doubtnut.com/l/_cKJAj8xz2835
https://dl.doubtnut.com/l/_0sH4nh6OtaML

55. If the lines y=2+ 1, y=2x and y=kx + 3 are

concurrent find the value of 'k’.

° Watch Video Solution

56. Find the equation of a line passing through the
intersection of the lines 3x + 2y = 5 and 22 —y = 1 and

cuts equal intercepts on the axes.

Az +y=2

Answer: A

[ = 1


https://dl.doubtnut.com/l/_0sH4nh6OtaML
https://dl.doubtnut.com/l/_ycRo0WCBqdLz

| @9 Watch Video Solution

57. Find the equation of a line passes through the point

(1, 3) and parallel to the line 3z — by + 7 = 0.

o Watch Video Solution

58.Find the equation of a line, passes through ( — 1, 2) and

perependicular to the line 2z 4 3y = 1.

o Watch Video Solution

59. Find the equation of a line perpendicular to the line

% + % — 1 and passes through the mid-point of the line

segment lying between the axes of the given line.


https://dl.doubtnut.com/l/_ycRo0WCBqdLz
https://dl.doubtnut.com/l/_AyiPBlvL1L4S
https://dl.doubtnut.com/l/_9v7YbdKOxk8p
https://dl.doubtnut.com/l/_CMCNv9OCKXGp

° Watch Video Solution

60. Two lines passes through the point (3, 1) meet an angle
of 60°. If the slope of one line is 2, find the equation of

second line.

o Watch Video Solution

61. Find the length of perpendicular from point (3, — 2) to

theline 3z — 4y — 2 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_CMCNv9OCKXGp
https://dl.doubtnut.com/l/_kIKD0sIDPoGo
https://dl.doubtnut.com/l/_8PxlPHK76DJW

62. Find the equation of a line passes through the points
(4, 3) and (3, 2). Also find the length of perpendicular from

point ( — 1, 5) to this line.

o Watch Video Solution

63. Find the distance between the parallel lines

3r +4y—7=0and 3z + 4y + 8 = 0.

A. 1 units.

B. 2 units.

C. 3 units.

D. 4 units.

Answer: C


https://dl.doubtnut.com/l/_EFR3Fik5L5Z7
https://dl.doubtnut.com/l/_Bw4qK6IyCWWt

° Watch Video Solution

64. If the lines 3x +by—1 =0 and ax — 5y +2 =0 are

parallel, then find the relation between a and b.

° Watch Video Solution

65. Prove that the line passing through the points (x1, y;)

L1Y2 — T2Y1

and (x4, yo) is at a distance of
(2 — 21)" + (2 — v1)”

from origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_Bw4qK6IyCWWt
https://dl.doubtnut.com/l/_vc2WMb468wDv
https://dl.doubtnut.com/l/_b8C3WU6G4Idg

66. Perpendicular distance from the origin to the line joining

the points (a cos 8, asin ) (a cos ¢, asin @) is

o Watch Video Solution

67. Find the equation of a line passing through the
intersection of the lines y = 2(z — 1) and y = 3z — 5 and

which is at a distance of l units from origin.
V2

° Watch Video Solution

68. Find the area of the triangle formed by the lines

y=z,y=2z,y=3x+4

° Watch Video Solution



https://dl.doubtnut.com/l/_ePNt9qQzuBRo
https://dl.doubtnut.com/l/_7jeMsCm9oWcG
https://dl.doubtnut.com/l/_vowqxkYtUMCN

69. If p is the length of perpendicular from point (1, 1) to the

straight line ax + by + a + b = 0, then prove that :

Rab

2
4
P a? + b?

o Watch Video Solution

70. Prove that the locus of a moving point, which is
equidistant from the lines 3z — 2y = 5 and 3x + 2y = 5, is

a straight line.

° Watch Video Solution

71. Find the equation of a line which passes through the

point (1,1) and through the intersection of lines


https://dl.doubtnut.com/l/_vowqxkYtUMCN
https://dl.doubtnut.com/l/_EBIF8NjKsceG
https://dl.doubtnut.com/l/_BOCsQxOLz07M
https://dl.doubtnut.com/l/_ya6cACKRlSkP

zr+y—1=0and3z+2y+1=0.

o Watch Video Solution

72. Find the equation of a line which passes through the
intersection of lines 2z +y—1=0 and 2 —3y+1=0

and parallel to x-axis.

o Watch Video Solution

73. Find the equation of a line which passes through the
intersection of the lines3x +y—2=0andax —y+1=20

and parallel to Y-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_ya6cACKRlSkP
https://dl.doubtnut.com/l/_PybmSLy1AgQF
https://dl.doubtnut.com/l/_ulB1LMuQZIJa
https://dl.doubtnut.com/l/_1wsh7PtEvXB0

74. Find the equation of a line passing through the point of
intersection of the lines x+3y+1=0 and

2z — y+ 3 = 0 and parallel to the line3z — 2y + 1 = 0.

o Watch Video Solution

75. Find the equation of a line passing through the point of
intersection of lines ¢t —y—1=0 and 2z —3y+1=0

and perpendicular to thelinex — 2y + 5 = 0.

o Watch Video Solution

76. Show  that the lines represented by
z(a + 3b) + y(2a — b) = 5a + b pass through a fixed point

for different values of @ and b.



https://dl.doubtnut.com/l/_1wsh7PtEvXB0
https://dl.doubtnut.com/l/_bdXU4bCFtn1w
https://dl.doubtnut.com/l/_imFB5w0kO5wR

I o Watch Video Solution

77. Find the equation of a line passes through the point of
intersection of thelines 2r +3y+1=0 and
3z — by — 5 = 0 and the made equal intercepts on the co-

ordinate axes.

o Watch Video Solution

78. Find the equation of the line through the point of
intersection of, the lines x*—-3y+1=0 and

2z + 5y — 9 — 0 and whose distance from the origin is /5

o Watch Video Solution



https://dl.doubtnut.com/l/_imFB5w0kO5wR
https://dl.doubtnut.com/l/_T99P1GLx3ccI
https://dl.doubtnut.com/l/_BqJ6LdbwIg5N

Exercise

1. Find the new co-ordinates of the following points when

origin is shifted to the point ( — 1, 4) :

o Watch Video Solution

2. At which point the origin should be shifted such that the

new co-ordinates of the ( — 2, 3) becomes (2, 6) ?

o Watch Video Solution



https://dl.doubtnut.com/l/_yL6U1On9LdQY
https://dl.doubtnut.com/l/_QkppDWc4L4ck

3.1f the origin is shifted to the point (1, 2) then what will be
the transform equation of the following equations, it is given
that the new and old axes are parallel

(x> +y* —2c —4y=0 (i1)22%> — ¢y —4c +4y—3 =10

(iid)z® + 2y — 2y — 4z +Ty—5=0(iv)3z +y =6

° View Text Solution

4. Find the point at which origin is shifted such that the
transformed equation of z? + 2y — 4z +4y — 2 = 0 has

no first degree term. Also find the transformed equation .

° Watch Video Solution



https://dl.doubtnut.com/l/_HrheNHoZggEG
https://dl.doubtnut.com/l/_NeWtkCCbVypk

5. Find the point at which is shifted such that the
transformed equations of the following equations has no
first degree term:

()22 + 3y + 4 — 12y + 10 = 0

(i)z> +y* —zy — bz +4y+5=0

o View Text Solution

6. Find the point at which origin is shifted such that the
transformed equation of Y —4y+8x—2=0 s

independent of constant term and y

° Watch Video Solution



https://dl.doubtnut.com/l/_oI7xWtUiTCta
https://dl.doubtnut.com/l/_IBARhgsY4xQ1

7. Show that the area of triangle whose vertices are (1, 0),
(2, 4) and (3, 3) will not change on shifiting the origin to the

point ( — 2, 3).

o Watch Video Solution

8.Find the slope of the lines whose iclination is given :

(:)45° (i3)60° (3ii)120°

o Watch Video Solution

9. Find the inclination of the lines whose slopes are as

follows :

N Jm N g 1
(4)4/3 (4%)1 (iii) — ﬁ

.Y


https://dl.doubtnut.com/l/_DS3s4ypxemOC
https://dl.doubtnut.com/l/_VXBf2JLJq6cP
https://dl.doubtnut.com/l/_cvOggSBCxVeh

| ¥ vvatch vViaeo solution ]

10. Find the slopes of the lines passing through the following
points :

(7)(1, 5) and (3, 2)

(i3)( — 4, 3) and ( — 6, 3)

(442)(1, 3) and (1, 4)

(iv)(2, — 1) and (3, 2)

o Watch Video Solution

11.If the slope of a line passing through the points (1, 4) and

(z, 2) is 2, find the value of x.

o Watch Video Solution



https://dl.doubtnut.com/l/_cvOggSBCxVeh
https://dl.doubtnut.com/l/_6NUeabVOMaku
https://dl.doubtnut.com/l/_Rgx7HPNRpW1J
https://dl.doubtnut.com/l/_A06vMxl2hL31

12.If the angle of inclination of line joining the points (z, 3)

and ( — 2, 5) is 45°, find the value of z.

o Watch Video Solution

13.If the slop of line joining the points (6, — 3) and (z, 7) is

2, find the values of z.

o Watch Video Solution

14. Show that the line joining the points (4, — 1) and
( — 3, 3) is parallel to the line joining the points (8, 0) and

(1, 4).

o Watch Video Solution



https://dl.doubtnut.com/l/_A06vMxl2hL31
https://dl.doubtnut.com/l/_WwKQBxmfyv9w
https://dl.doubtnut.com/l/_KCyJbQS277oJ

15.If the line joining the points (5, y) and (4, 9) is parallel to
the line joining the points (0, 5) and (1, 7), find the value of

Y.

o Watch Video Solution

16. Show that the line joining the points (4, — 3) and (0, 7)
is perpendicular to the line joining the points (5,2) and

(0, 0).

° Watch Video Solution

17. If the line joining the points (6, —2) and (8,4) is
perpendicular to the line joining the points (12,8) and

(24, y), find the value of y.


https://dl.doubtnut.com/l/_dyad622NcHpR
https://dl.doubtnut.com/l/_9P99UhaNh2j7
https://dl.doubtnut.com/l/_OdUdPhKZnu0H

o Watch Video Solution

18. Without wusing Pythagoras theorem, show that
A(4,4), B(3,5)and C( — 1, — 1) are the vertices of a right

angled triangle.

o Watch Video Solution

19. Using slopes, show that the points A(0, 5), B(3, 2) and

C( — 1, 6) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_OdUdPhKZnu0H
https://dl.doubtnut.com/l/_UehMeOTFhcvE
https://dl.doubtnut.com/l/_8U9FPCKRIf7H

20. Using the slope of line, show that the points ( — 1, — 2),
(0,4), (3,3) and (2, —3) are the vertices of a

parallelogram.

o Watch Video Solution

21. Using slopes, show that the points (4, 11), (1,5) and

( — 1, 1) are collinear.

o Watch Video Solution

22. If the points ( — 1, y), (1, 2) and (5, 4) are collinear, find

the value of y.

o Watch Video Solution



https://dl.doubtnut.com/l/_HpM33VBhqC8F
https://dl.doubtnut.com/l/_DDM01ahtRq9l
https://dl.doubtnut.com/l/_GlNzSgsIcBuH

23. If the points P(h, k), Q(x1,y1)and R(xy,ys) lie on a

line. Show that: (h — wl)(y2 — yl) = (k — yl)(:cz — :171)-

o Watch Video Solution

24.The slope of a line is double of the slope of another line.
1
If tangent of the angle between them is 3 find the slopes

of the lines.

o Watch Video Solution

25. Show that the diagonals of a rhombus bisect each other

at right angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ehe9BfhDOF63
https://dl.doubtnut.com/l/_uFYu4XMhPwFt
https://dl.doubtnut.com/l/_al4Dkz0saws1

26. Prove that a median of an equilateral triangle is

perpendicular to the corresponding side.

O Watch Video Solution

27. Prove that the line joining the mid-points of the two sides

of a triangle is parallel to the third side.

o Watch Video Solution

28. Find the equation of the following lines :
(7) parallel to X-axis and 2 units above it.
(i) parallel to X-axis and 3 units below it.
(ii7) parallel to Y-axis and 6 units left of it.

(7) parallel to Y-axis and 4 units right of it.


https://dl.doubtnut.com/l/_H2QbOZ8kkI2y
https://dl.doubtnut.com/l/_6zgjRucouV5P
https://dl.doubtnut.com/l/_VJKWiA71QZyA

° Watch Video Solution

29. Find the equation of a line which pasess through the
point (1, — 1) and parallel to

(1) X — axis (#1)Y — axis

o Watch Video Solution

30. Find the equation of line passing through the point
(2, 6) and perpendicular to

(1) X — axis (#1)Y — axis

o Watch Video Solution



https://dl.doubtnut.com/l/_VJKWiA71QZyA
https://dl.doubtnut.com/l/_uT5gnYaYHTFB
https://dl.doubtnut.com/l/_v5tYFrexRtiF

31. Find the equation of a line passing through the point

(1, — 2) and whose slope is 4.

o Watch Video Solution

32. Find the equation of a line passing through the point
(—2,0) and makes an angle of ?ﬂ from the positive

direction of X — axis.

o Watch Video Solution

33. Find the equation of a line passing through the point
(0, —2) and makes an angle of 75° from the positive

direction of X-axis.

| o war_o_L vt il _ ~_1_.n°_ _


https://dl.doubtnut.com/l/_j7R4QMBzlIgc
https://dl.doubtnut.com/l/_xABEbu1SmT2Q
https://dl.doubtnut.com/l/_mwrRoJxWJovb
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34. (i)Find the equation of a line passing through origin and
makes an angle of 60° from the positive direction of X-axis.
(4¢) Find the equation of a line for which tan# = 2 and the

length of intercept on X-axis is 3 units.

° Watch Video Solution

35. () Find the equation of line passing through (2, 2) and

makes an angle of 135° from positive direction of X-axis.

(i7) Find the equation of a line passing through the point

(2, 1) and makes an angle "6’ from the positive direction of
1

X-axis where cos@ = — 3

o View Text Solution



https://dl.doubtnut.com/l/_mwrRoJxWJovb
https://dl.doubtnut.com/l/_PzZAjLSbrqsH
https://dl.doubtnut.com/l/_56zcc4qKLkoL

36. Find the equation of the line passing through the
following points :

(7)(1, 2) and (4, 7)

(i7)( — 3,1) and (0, 73)

(4i7) origin and (1, 4)

(iv)( — 2, — 3)and (1, 2)

o Watch Video Solution

37. () Find the equation of a line passing through the points
(a, b) and (ab, b%).
(i7) The vertices of AABC are A(2,5), B(3,2) and C(5, 6).

Find the equation of the bisector of ZA.

° View Text Solution



https://dl.doubtnut.com/l/_56zcc4qKLkoL
https://dl.doubtnut.com/l/_NKxr15CnXays
https://dl.doubtnut.com/l/_xtvhtdqhFvOK

38. If the point (p, q) lies on the line joining the points

(—4,5)and ( — 5,7),then showthat2p + ¢+ 3 = 0.

o Watch Video Solution

39. Find the equation of the medians of AABC whose

vertices are A(1, 0), B(2, 4) and C(3, 2).

o Watch Video Solution

40. The vertices of AABC are A( —3,2), B(0,3) and

C(1, 0). Find the equation of the median through B.

o Watch Video Solution



https://dl.doubtnut.com/l/_xtvhtdqhFvOK
https://dl.doubtnut.com/l/_ForknefjIvqi
https://dl.doubtnut.com/l/_R8YKwLFGYncF
https://dl.doubtnut.com/l/_5xhBdl4h1c76

41. Find the equation of the perpendicular bisector of the

line segment joining the points (1, 0) and (3, 5).

© Wwatch video solution

42. Show that the points (0, 3), ( —2, — 2) and (2, 8) are

collinear. Also find the equation of line through these points.

o Watch Video Solution

43. Find the equation of a line whose

(i) Slope = —landY — intercept = 3.
g 2 :

(i7) Slope = B andY — intercept = — 2.

1 2
(iii) Slope = 3 andY — intercept = 3

| o war_o_L vl _ ~_01__.n°_ _


https://dl.doubtnut.com/l/_Fo7wAoUx8gPK
https://dl.doubtnut.com/l/_0OyfP99Hoga6
https://dl.doubtnut.com/l/_lT8aFuOmmYVW
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44, Find the equation of a line which intersects Y-axis at a
distance of 4 units above origin and makes an angle of 45°

from positive direction of X-axis.

o Watch Video Solution

45.Find the Y — intercept of the line 2y = 42 — 3.

o Watch Video Solution

46. Find the equation of a line which intersects X-axis at a
distance of 2 units on right of origin and makes an angle of

30° from positive direction of X-axis.



https://dl.doubtnut.com/l/_lT8aFuOmmYVW
https://dl.doubtnut.com/l/_hkB5j9gfPMZH
https://dl.doubtnut.com/l/_GUmKZBO0sjoi
https://dl.doubtnut.com/l/_BXFEmgAuGJQu

o Watch Video Solution

47.Find the equation of lines whose X and Y-intercepts are

as follows :

()2 and 3 (4)-2 and -5(ii) 3 and -5(iv) 4 and -2

o Watch Video Solution

48. Find the intercepts cuts on X-axis and Y -axis from the
following lines :
(4)3z + 4y = 12 (ii)2x — by = 8

(iit)x + 2y +3=0(iv)2z —y+3=0

o Watch Video Solution



https://dl.doubtnut.com/l/_BXFEmgAuGJQu
https://dl.doubtnut.com/l/_5g1hV2JAsgJW
https://dl.doubtnut.com/l/_lRc66uHQGOpi

49, Find the equation of a line which passes through the

point (1, 3) and makes equal intercepts on X and Y-axis.

o Watch Video Solution

50. Find the equation of a line which passes through
( —3,2) and makes intercepts equal in magnitude but

opposite in sign on X and Y -axis.

o Watch Video Solution

51. Find the equation of a line passes through (3, 4) and the

ratio of its intercepts on X and Y-axis is 3: 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_IIB1tFE5mA3K
https://dl.doubtnut.com/l/_Ae9fI4v9Q6eV
https://dl.doubtnut.com/l/_CRKtsb3FqW7s

52.Find equation of the line passing through the point (2, 2)

and cutting off intercepts on the axes whose sum is 9.

O Watch Video Solution

53. (i) Find the intercepts made by line 5z — 2y = 10 on
both axes. Also find the length of segment between the axes
made by lines.

(i4) Find the equation of a line whose X and Y intercepts
are respectively 3 and 4 times of the intercepts of the line

2z 4+ 3y = 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_Cxz6pvfSb490
https://dl.doubtnut.com/l/_u5UVd0X4DLhQ

54. (¢) Find the equation of a line, in which the mid- point of
the line segment between the axes is ( — 3, 2).
(i) Find the area of triangle formed by the line

4z + 3y = 24 and the co-ordinate axes.

° Watch Video Solution

55. Find the equation of a line whose segment between the

axes is divided in the ratio 2: 3 by the point (h, k).

° Watch Video Solution

56. Find the equation of a line which is at a perpendicular

distance of 1/2 units from origin and the perpendicular from


https://dl.doubtnut.com/l/_il5nTiCBtHX1
https://dl.doubtnut.com/l/_kp540pLQLjgj
https://dl.doubtnut.com/l/_ZoKVy3VVucjh

origin to this line makes an angle of 135° from positive

direction of X-axis.

° Watch Video Solution

57. Find the equation of a line which is at a distance of 2

units from origin and the perpendicular from origin to this

12

line makes an angle tan ™ S from positive direction of X-

axis.

o Watch Video Solution

58. Find the equation of a line which is at a distance of 4

units from origin and the slope of perpendicular from origin

1
to this line is —.
V3

| e ]


https://dl.doubtnut.com/l/_ZoKVy3VVucjh
https://dl.doubtnut.com/l/_5w5K2MR1GPnS
https://dl.doubtnut.com/l/_Bderqb0kFvRK

| & Watch Video Solution

59.Find the equation of a line which makes a triangle of area
96+/3 square from co-ordinate axes and the perpendicular
drawn from origin to this line makes an angle 60° from X-

axis.

o View Text Solution

60. Convert the line 3z — 4y + 5 = 0 into perpendicular
form and find the length of perpendicular from origin to this

line.

o Watch Video Solution



https://dl.doubtnut.com/l/_Bderqb0kFvRK
https://dl.doubtnut.com/l/_vJPdp5AT34aS
https://dl.doubtnut.com/l/_L61yWU262x9L

61. Convert the following equations into slope-intercept form
and find their slope and y-intercepts.

(i)5z + 1y = 26 (i3)6x — 8y + 5 = 0

o Watch Video Solution

62. Convert the following equations into intercept form and
find the intercepts cuts from axes from these lines :
(i)4x + 3y = 24 (i)2z — Ty = 14

(ii)2x + 3y = 6 (iv)3x —y = 4

° Watch Video Solution

63. Convert the following equations into perpendicular form

and find the length of perpendicular from origin and the


https://dl.doubtnut.com/l/_1uDPXrOLyDoN
https://dl.doubtnut.com/l/_vP4vAnQpy6c4
https://dl.doubtnut.com/l/_xuQTWKpM1D9X

angle between z-axis and the perpendicular from origin :

(i)y/3z —y = 8 (i1)2x +y,/5 =6

o Watch Video Solution

64. Find the angle formed by the line \/3z + y — 5 = 0 from

the positive direction of z-axis.

o Watch Video Solution

65. Find the angle between the lines /3z +y = 2 and

T + /3y = 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_xuQTWKpM1D9X
https://dl.doubtnut.com/l/_H8caJaKtQkv2
https://dl.doubtnut.com/l/_eyam7aG6r7Ue

66. Find the equation of a line passes through the points

(3,4) and parallel to the line z + by = 1.

o Watch Video Solution

67. Find the equation of a line passes through the point

( — 2, 1) and perpendicular to the line 3z + y = 5.

o Watch Video Solution

68. Prove that the lines 2z + 5y =8 and 4 + 10y — 1 =0

are parallel.

o Watch Video Solution



https://dl.doubtnut.com/l/_lBNLJtfRQ4sW
https://dl.doubtnut.com/l/_Pm6zdroXOlJD
https://dl.doubtnut.com/l/_R3dmaWAJr4wk
https://dl.doubtnut.com/l/_762Y2vvO5PGf

69. Prove that the lines ¢ + 3y +2 =0and 3z —y = 0 are

perpendicular.

° Watch Video Solution

70. Find the angle between the following pairs of lines :
_ 1
(i)y=+3z+1landy = —z + 2
V3
(id)y=xandy=1—=

(441)2x + 3y = 2and 3z — 2y = 1.

o Watch Video Solution

71. Find the slope of a line perpendicular to the line

3z + 5y = 8.

o Watch Video Solution



https://dl.doubtnut.com/l/_762Y2vvO5PGf
https://dl.doubtnut.com/l/_PJPdx8vwhiRi
https://dl.doubtnut.com/l/_0gFY1Aeiylwu

72. If a line passes through the points (a, 1) and (3, — 5),
meets the line 3x + y — 1 = 0 at right angle, then find the

value of 'a’.

o Watch Video Solution

73. Find the point of intersection of the following pair of
lines :

(1)9z — 10y = 12and 2z — 5 =0

(i1)y = mix + c1 and y = maz + c2

(ii))r +y=8andz —y = 2

o Watch Video Solution



https://dl.doubtnut.com/l/_0gFY1Aeiylwu
https://dl.doubtnut.com/l/_6Rzr4N1wHR06
https://dl.doubtnut.com/l/_vyUZoGBYntVB

74. (i) Find the value of 'a’ if the lines 3z — 2y + 8 = 0,
2z +y+ 3 = 0and az + 3y + 11 = 0 are concurrent.

(i) If the lines y=myz +c¢, y=m9zr+c and
Yy = mg3x + c3 meet at point then shown that :

c1(mg — ms) + co(ms — my) + c3(mg —my) =0

o Watch Video Solution

75. Find the equation of line joining origin to the point of

intersection of the pair of lines 3z +y = 10and z — y = 2.

° View Text Solution

76. Find the equation of a line passing through origin and

parallel to the line 3z — 5y + 2 = 0.


https://dl.doubtnut.com/l/_13rKI7yzVbky
https://dl.doubtnut.com/l/_OTvttGwl2mGa
https://dl.doubtnut.com/l/_zgvuj5PsLWmx

° Watch Video Solution

77. Find the equation of a line passing through origin and

parallel to the line joining the points (1, 3) and (2, — 1).

° Watch Video Solution

78. Find the equation of a line passing through the point
(—1, —2) and parallel to the line joining the points

(2, —3)and (3, —2)

o Watch Video Solution



https://dl.doubtnut.com/l/_zgvuj5PsLWmx
https://dl.doubtnut.com/l/_pkxxN4pL5mp7
https://dl.doubtnut.com/l/_ChjE83YY07ne

79. Find the equation of a line passing through the
intersection of the lines 3x —y =1 and bx + 2y = 9 and

parallel to the line 3z + by = 8.

o Watch Video Solution

80. Find the equation of a line parallel to the line
x cosa + ysina = p and passing through the mid-point of

the line segment joining the points (1, 5) and (3, — 3).

o View Text Solution

81. Find the equation of a line passing through the point

( — 1, 0) and perpendicular to the line x + 5y = 4.

| o war_ao_L w2l _ ~_1_.n°_ _


https://dl.doubtnut.com/l/_EK9lxjxEIQeA
https://dl.doubtnut.com/l/_8BaPZkH6rgFH
https://dl.doubtnut.com/l/_KAqqjantwVGf
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82. Find the equation of perpendicular bisector of line

segment joining the points (1, 5) and (3, — 1)

o Watch Video Solution

83. Find the equation of a line passing through the point of
intersection of the lines 3z +5y= —2 and 5z — 2y =7

and perpendicular to the line4z — 5y + 1 = 0.

o Watch Video Solution

84. Find the length of perpendicular drawn from point

(2, — 1) to theline 3z + 4y — 11 = 0.



https://dl.doubtnut.com/l/_KAqqjantwVGf
https://dl.doubtnut.com/l/_Nf6jst42JlCu
https://dl.doubtnut.com/l/_2JhKHVzhwzgl
https://dl.doubtnut.com/l/_rEqcYMyQNGy9

o Watch Video Solution

85. Find the length of perpendicular drawn from origin to the

line 12z — 5y = 26.

o Watch Video Solution

86. Find the length of perpendicular from the point

(—1, —2) tothelinex = 2y — 15.

o Watch Video Solution

87. Find the length of perpendicular from origin to the line

T+ Ty + 42 = 0.

| o Wiakl.\tdaa AL .&lam l


https://dl.doubtnut.com/l/_rEqcYMyQNGy9
https://dl.doubtnut.com/l/_IXZd3FQiq9b4
https://dl.doubtnut.com/l/_pFrcE2yWsZBo
https://dl.doubtnut.com/l/_D6p5Bt8jmpCH
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88. Find the distance between the parallel lines

5 + 12y — 20 = 0and 52 + 12y + 6 = 0.

o Watch Video Solution

89. (i) Find the co-ordinates of the foot of perpendicular
from point ( — 1, 3) to the line 3z — 4y = 16.
(i7) The co-ordinates of the foot of perpendicular drawn

from origin to a line are (2, 3). Find the equation of the line.

° Watch Video Solution



https://dl.doubtnut.com/l/_D6p5Bt8jmpCH
https://dl.doubtnut.com/l/_pLvdrnPD2Mcb
https://dl.doubtnut.com/l/_5YCzS6tXX3Ss

90. Find the length of perpendicular from the point

(acos a, asina) to the line z cosa + ysina = p.

o Watch Video Solution

91. Find the distance between the parallel lines

T +44/3y +10 = 0and = + 4,/3y — 18 = 0.

o Watch Video Solution

92. Find the relation between a and b if the lines

3r —by+ 5 =0andazx + y = 2 parallel.

o Watch Video Solution



https://dl.doubtnut.com/l/_g2lLUA5JJaej
https://dl.doubtnut.com/l/_CufkDarpSc5D
https://dl.doubtnut.com/l/_sD3NX0A414u0
https://dl.doubtnut.com/l/_W0hMbEBMMtJk

93.If p and q are the lengths of perpendicular from the origin
to the line xcos(f) — ysin(f) = kcos(20) and
x sec(f) + ycosec(f) = k respectively , then prove that

P+ 4g% = k2

o Watch Video Solution

94. Show that the distance between the parallel lines

CT %

N

ar +by+c=0and k(az + by) +d =0is

° Watch Video Solution

95. (7) If the length of perpendicular from origin to the line

ar +by+ a—+b=0is p,then show that :

P 1= 2ab
a? + b?



https://dl.doubtnut.com/l/_W0hMbEBMMtJk
https://dl.doubtnut.com/l/_dACXMcAk1c1s
https://dl.doubtnut.com/l/_lRxKkv9KeeuR

(i) If the length of perpendicular from point (1, 1) to the

line ax — by + ¢ = 0Ois unity then show that :
1 1 1 c

c 27 C T

° Watch Video Solution

96. The equations of sides AB, BC and AC of AABC are
respectivelyy = x,y = 0 and 4z + 3y = 12, then find :

(7) length of perpendicular from B to AC

(i) Z BAC.

° View Text Solution

97.If p is the length of perpendicular from the origin to the

line whose intercepts on the axes are a and b, then show


https://dl.doubtnut.com/l/_lRxKkv9KeeuR
https://dl.doubtnut.com/l/_CwL3H8d50b1W
https://dl.doubtnut.com/l/_cZIN189ykcO5

1 B 1 1
thatﬁ—g‘Fﬁ.

o Watch Video Solution

98. Find the coordinates of the incentre and centroid of the
triangle whose sides have the equations

3r — 4y = 0, 12y 4 5z = Oadny — 15 = 0.

° Watch Video Solution

99. Find the co-ordinates of the circumcentre of a triangle

whose vertices are (7, 5), (6, 6) and ( — 2, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_cZIN189ykcO5
https://dl.doubtnut.com/l/_vu7XVX0sbdQV
https://dl.doubtnut.com/l/_4UfBWTftGpux

100. Find the co-ordinates of the orthocentre of a triangle

whose vertices are (3, — 1), ( — 1, 2) and (0, 0).

o View Text Solution

101. The equation of one diagonal of a squareis 2 +y = 6
and its one vertex is (4,3). Find the equation of other

diagonal.

o Watch Video Solution

102. The co-ordinates of the vertex of an equilateral triangle
are (2, — 1) and equation of its base is ¢ +y — 1 = 0. Find

the equations of its other two sides.

| ° View Text Solution


https://dl.doubtnut.com/l/_Fq6BLhuhOW1f
https://dl.doubtnut.com/l/_rnMXBg0cEPij
https://dl.doubtnut.com/l/_6sAx5F15RYkj

103. A ray of light is sent along the line z — 2y — 3 = O upon
reaching the line 3x — 2y — 5 = 0, the ray is reflected from

it. Find the equation of the line containing the reflected ray.

o Watch Video Solution

104. show that the equation of the straight line through the

origin making angle ¢ with the liney = ma + b

o Watch Video Solution

105. Show that the straight lines given by

(2+ k)x + (1 + k)y = 5 + 7k for different values of k pass


https://dl.doubtnut.com/l/_6sAx5F15RYkj
https://dl.doubtnut.com/l/_jxMsSboNk4SD
https://dl.doubtnut.com/l/_PoSRfrmgzjly
https://dl.doubtnut.com/l/_6AduWUknuQPn

through a fixed point. Also, find that point.

° Watch Video Solution

106. Find the equation of a line passing through the point of
intersection of the lines 22 — 7y + 11 =0 and  + 3y = 8

and passes through the point (2, — 3).

° Watch Video Solution

107. Find the equation of a line passing through the point of
intersection of the lines 4x+3y—1=0 and
x4+ 2y+ 3 =0and

(7) parallel to X-axis.

(i) parallel to Y-axis.


https://dl.doubtnut.com/l/_6AduWUknuQPn
https://dl.doubtnut.com/l/_h3uw3ibboXBs
https://dl.doubtnut.com/l/_iztXALqo6BqP

parallel to line2z +y — 1 = 0.

(iv) perpendicular to line3z —y + 1 = 0.

° Watch Video Solution

108. Find the equation of line passing through the point of
intersection of the lines 2x+4+3y+1=0 and
3r —by—5=0

(7) perpendicular to X-axis.

(i7) perpendicular to Y-axis.

(éii) perpendicular to linex — 2y +1 =10

(iv) parallel to linexz + 2y — 1 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_iztXALqo6BqP
https://dl.doubtnut.com/l/_1vmEodnYzpGC

109. Find the equation of a line passing through the point of
intersection of the lines z +y=4 and 2x —3y—1=0
and parallel to a line whose intercepts on the axes are 4 and

6 units.

° Watch Video Solution

110. Find the equation of a line passing through the point of
intersection of the lines b5z+4+y—-—3=0 and
x+3y+1=0 and made equal angles from the co-

ordinates axes.

° View Text Solution



https://dl.doubtnut.com/l/_zwMlQMZUpX2h
https://dl.doubtnut.com/l/_SVdrO3z408fa

111. Find the equation of the line passing through (-3,5) and

perpendicular to the line through the points (2,5) and (-3,6).

C.4

D. 6

Answer: B

° Watch Video Solution

112. The co-ordinates of the vertices of AABC are
A( —2,4), B(5,5) and C(4, — 2). The equation of the

bisector of ZA is :


https://dl.doubtnut.com/l/_f6dTr1H13wR8
https://dl.doubtnut.com/l/_RjAk68B9A0xf

Az +3y=10

B.z — 3y = 10

C.3z +y =10

D.3x —y =10
Answer: A

° View Text Solution

113. Find the equation of a line which passes through the
point (5,1) and cuts, equal in magnitude but opposite in
sign, intercepts on axes.

Ax+y==6

B.2x +y = 11


https://dl.doubtnut.com/l/_RjAk68B9A0xf
https://dl.doubtnut.com/l/_8wgKrH43zviL

Answer: D

° Watch Video Solution

114. The co-ordinates of three vertices of a parallelogram
ABCD are A(1,0) , B(3,4) and C(1, 2). The co-ordinates

of fourth vertex D are:

A(—1,2)
B.(—5, —4)
C.(1,2)


https://dl.doubtnut.com/l/_8wgKrH43zviL
https://dl.doubtnut.com/l/_UKWOMPH0UWIa

Answer: C

o Watch Video Solution

115. The perpendicular drawn from origin to the line

y = mx + ¢ meets the line at point ( — 1, — 2), (¢,m) = 7
A(E l)
27 2
B.(l E)
27 2
(33
' 27 2

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UKWOMPH0UWIa
https://dl.doubtnut.com/l/_foH2M2yUZ1fY
https://dl.doubtnut.com/l/_SMeJOMIXoqsL

16. The perpendicular distance between the lines

3r +4y=6and3x +4y+4=0is:

A. 1 unit

B. 2 units

C. 3 units

D. None of these

Answer: B

o Watch Video Solution

117. The equation of the perpendicular bisector of line AB is
x + 2y = 8 and the co-ordinates of point A are (1, 1). Co-

ordinates of B are :


https://dl.doubtnut.com/l/_SMeJOMIXoqsL
https://dl.doubtnut.com/l/_aLRc7fkxjTa9

A.(0,2)
B. (1, 3)
C.(3,5)

D. (2, 5)

Answer: C

° Watch Video Solution

118. Equation of a line passing through the point (2, 3) and
perpendicular to thelinex +y+ 1 =0is:
Ay—z+1=0
Bz —y+1=0

Cz+y—1=0


https://dl.doubtnut.com/l/_aLRc7fkxjTa9
https://dl.doubtnut.com/l/_o0ukZBRAhju5

D. None of these

Answer: B

o Watch Video Solution

119. In what ratio, the line joining ( —1,1) and (5,7) is
divided by the linex + y = 47

A 3:2

B.2:3

C.1:2

D.2:1

Answer: C

| o Wakl.\ntdaa AL .&lam



https://dl.doubtnut.com/l/_o0ukZBRAhju5
https://dl.doubtnut.com/l/_w8s0UCK1OW0I
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120. Find the image of the point (3, 8)with respect to the line

x + 3y = Tassuming the line to be a plane mirror.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_w8s0UCK1OW0I
https://dl.doubtnut.com/l/_MJBR8QrjLB0c

121. The locus of the points of intersection of the lines
xcosd +ysinf =a and xsinf —ycosfd =0, (0=
variable) is :

A z? 4+ y? =a® + b

B.2% 4+ y? = a® — b?

C.z’ +y* = 2(a® +b°)

D. None of the above

Answer: A

° Watch Video Solution

122. A straight line through the point (2, 2) intersects the

lines v/3z + y = 0 and {/3z — y = 0 at the point A and B,


https://dl.doubtnut.com/l/_BgnS6kbcBT8a
https://dl.doubtnut.com/l/_5VEFeTXT8wx2

respectively. Then find the equation of the line AB so that

triangle OAB is equilateral.

Az =2
B.x +y =14
Cy=2

D. None of these

Answer: C

° Watch Video Solution

123. The triangle formed by the straight lines z = —y,

r+y=4andx +3y=4is:

A. isosceles


https://dl.doubtnut.com/l/_5VEFeTXT8wx2
https://dl.doubtnut.com/l/_GHTcBwskvrHs

B. equilateral

C.right-angled

D. None of these

Answer: A

° Watch Video Solution

124. The lines
pr+qy+r=0,qgc+ry+p=0,rc +py+q=0, are
concurrant then

A.p+q+r=pgr

B.p3 + q3 + 3 = 3pqr

Cp’+ ¢+ 7 =2(pg+qr+rp)


https://dl.doubtnut.com/l/_GHTcBwskvrHs
https://dl.doubtnut.com/l/_VLsfdZt0eQQ4

D. None of these

Answer: B

o Watch Video Solution

125. Find the point of intersection of the following pairs of
lines: bx + ay = aband bx + by = ab.

Ax=y+14

B. (lx + my)(a + b) = (I + m)abd

C.(z +y)(a+b) = 2ab+ 2

D. (lz — my)(a — b) = (I — m)ab

Answer: B

| o Wiakl.\tdaa CcAlL.&lam



https://dl.doubtnut.com/l/_VLsfdZt0eQQ4
https://dl.doubtnut.com/l/_ZkhT9pPFoCaq
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126. The area of triangle formed by the straight lies y = 1,

2 +y=2and2xz —y+2=20is,

1
A 3 sg. units

B. 4 sq. units
C. 2 sqg. units

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ZkhT9pPFoCaq
https://dl.doubtnut.com/l/_aZYDejikCVW8

127. The equation of the base of an equilateral triangle is
z +y =2 and its vertex is (2, — 1). Find the length and

equations of its sides.

@
| w
w| | o w

D. None of these

Answer: B

° Watch Video Solution

128. A line passes through the point (2,2) and is

perpendicular to the line 3z + y = 3, then its y-intercept is


https://dl.doubtnut.com/l/_wINBAL14H6zZ
https://dl.doubtnut.com/l/_lEzOxhVolGRq

A1/3

B.2/3

C.4/3

D. None of these

Answer: C

° Watch Video Solution

129. Write the coordinates of the orthocentre of the triangle
formed by points (8,0), (4,6) and (0,0)

A.(0,1)

B. (0, 0)

c.(1,1)


https://dl.doubtnut.com/l/_lEzOxhVolGRq
https://dl.doubtnut.com/l/_tCAzI4seQcPc

D.(1, — 1)

Answer: D

o Watch Video Solution

130. If the line y = ma, meets the lines ¢ 4+ 2y = 1 and

2x —y+ 3 = 0 at one point onlythenm = ?

Al
B.—1
C.—2

D. None of these

Answer: B

| o A\ msns Tannk Caliidkiam



https://dl.doubtnut.com/l/_tCAzI4seQcPc
https://dl.doubtnut.com/l/_KSKJMfUhsE85
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131. Draw a quadrilateral in the Cartesian plane, whose
vertices are ( — 4,5),(0,7), (5, — 5),and ( — 4, — 2). Also,

find its area.

° Watch Video Solution

132. The base f an equilateral triangle with side 2a lies along
the y-axis such that the mid point of the base is at the origin.

Find the vertices of the triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_KSKJMfUhsE85
https://dl.doubtnut.com/l/_lf9tVNz7EPiQ
https://dl.doubtnut.com/l/_xwwDSTD0ukVf

133. Find the distance between P(x1, y;)and Q(z3, y2)when:

(i) PQis parallel to the yaxis, (ii) PQ is parallel to the xaxis.

o Watch Video Solution

134.Find a point on the x-axis, which is equidistant from the

point (7,6) and (3,4).

o Watch Video Solution

135. Find the slope of a line, which passes through the origin,
and the mid-point of the line segment joining the points

P(0, — 4) and B(8, 0).

o View Text Solution



https://dl.doubtnut.com/l/_5R3AMuFj05gg
https://dl.doubtnut.com/l/_A1IvXDywrN8u
https://dl.doubtnut.com/l/_jTI3BYZiM9K3

136. Without using Pythagoras theorem, show that
A(4,4), B(3,5)and C( — 1, — 1) are the vertices of a right

angled triangle.

o Watch Video Solution

137. Find the slope of the line, which makes an angle of 300

with the positive direction of yaxis measured anticlockwise.

o Watch Video Solution

138. Find the value of =« for which the points

(z — 1), (2,1)and (4, 5) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_OCZyW4VWY8pi
https://dl.doubtnut.com/l/_xIONN6HoBAAi
https://dl.doubtnut.com/l/_u6wdCcoa8luU

139. Without using distance formula, show that points
(-2, —1),(4,0),(3, 3), and (-3, 2)" are the vertices of a

parallelogram.

o Watch Video Solution

140. Find the angle between the X-axis and the line joining

the points (3, — 1)and (4, — 2).

o Watch Video Solution

141. The slope of a line is double of the slope of another line.
1
If tangent of the angle between them is 3 find the slopes

of the lines.

| o war_o_L vl _ ~_ 1. _ _


https://dl.doubtnut.com/l/_Sxvkf1HF7xfz
https://dl.doubtnut.com/l/_SDdYGWRNB0ED
https://dl.doubtnut.com/l/_cnk6EcQ1xNmD
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142. A line passes through (x1, y;)and (h, k). If slope of the

line is m, show that k — y; = m(h — z1).

o Watch Video Solution

143.If three points A(h, 0), P(a, b)and B(0, k) lie on a line,

a b
how that: — — =1.
show tha h+l<:

o Watch Video Solution

144. Consider the following population and year graph: find
the slope of the line AB and using it find what will be the

population in the year 2010.



https://dl.doubtnut.com/l/_cnk6EcQ1xNmD
https://dl.doubtnut.com/l/_K068XSbBbtig
https://dl.doubtnut.com/l/_Il0S4CvDUW5n
https://dl.doubtnut.com/l/_xGnW9cE67hwq

o Watch Video Solution

145. Find the equation of the line which satisfy the given

conditions : Write the equations for the z and y axes.

o Watch Video Solution

146. Find the equation of the line which satisfy the given

conditions : Passing through the point (4, 3) with slope
1

5 -

o Watch Video Solution

147.Find the equation of the line passing through (0,0) with

slope m.


https://dl.doubtnut.com/l/_xGnW9cE67hwq
https://dl.doubtnut.com/l/_qX5L3CmO7RFr
https://dl.doubtnut.com/l/_GO51EbPWrgrq
https://dl.doubtnut.com/l/_DYFRmOnRSrik

° Watch Video Solution

148. Find the equation of the line passing through (2, 2\/5)

and inclined with x-axis at an angle of 75° .

° Watch Video Solution

149. Find the equation of a straight line: with slope -2 and
intersecting the x-axis at a distance of 3 units to the left of

origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_DYFRmOnRSrik
https://dl.doubtnut.com/l/_ywPGnmhsWaTV
https://dl.doubtnut.com/l/_ZsCqxf2YW0Tb

150. Find the equation of the line which satisfy the given
conditions : Intersecting the yaxis at a distance of 2 units
above the origin and making an angle of 30° with positive

direction of the x-axis.

° Watch Video Solution

151. Passing through the points ( — 1,1),and (2, — 4).

o Watch Video Solution

152. Find the equation of the line which satisfy the given
conditions : Perpendicular distance from the origin is 5 units
and the angle made by the perpendicular with the positive x-

axis is 30° .


https://dl.doubtnut.com/l/_6W2fj97o8KHJ
https://dl.doubtnut.com/l/_9e9lJhXkROIT
https://dl.doubtnut.com/l/_gjCNLSCrrKz6

o Watch Video Solution

153. The vertices of APQR are P(2,1), Q( — 2, 3), R(4,5).

Find equation of the median through the vertex R.

o Watch Video Solution

154. Find the equation of the line passing through (-3,5) and

perpendicular to the line through the points (2,5) and (-3,6).

o Watch Video Solution

155. A line perpendicular to the line segment joining the

points (1, 0) and (2, 3) divides it in the ratio 1:n. Find the


https://dl.doubtnut.com/l/_gjCNLSCrrKz6
https://dl.doubtnut.com/l/_boNCRkZqhOVF
https://dl.doubtnut.com/l/_ldqSOyaSGkjH
https://dl.doubtnut.com/l/_16VtLzE5TmeL

equation of the line.

o Watch Video Solution

156. Find the equation of a line that cuts off equal intercepts

on the coordinate axes and passes through the point (2, 3).

o Watch Video Solution

157. Find equation of the line passing through the point (2, 2)

and cutting off intercepts on the axes whose sum is 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_16VtLzE5TmeL
https://dl.doubtnut.com/l/_qUmj8YPH7dsh
https://dl.doubtnut.com/l/_1ACdljKl2gcg

158. Find equation of the line through the point (0, 2) making
2w . : :

an angle ?mth the positive xaxis. Also, find the equation of

line parallel to it and crossing the z -axis at a distance of 2

units below the origin.

° Watch Video Solution

159. The perpendicular from the origin to a line meets it at

the point (-2, 9) find the equation of the line.

° Watch Video Solution

160. The length L (in centimetre) of a copper rod is a linear

function of its Celsius temperature C. In an experiment, if


https://dl.doubtnut.com/l/_LVzvelFSN4i1
https://dl.doubtnut.com/l/_KFXe7aV9Lmuw
https://dl.doubtnut.com/l/_OuwQFiThB390

L = 124. 942 when C = 20 and L = 125. 134when C = 110,

express L in terms of C.

° Watch Video Solution

161. The owner of a milk store finds that, he can sell 980 litres
of milk each week at Rs 14/litre and 1220 litres of milk each
week at Rs 16/litre. Assuming linear relation between selling
price and demand, how many litres could he sell weekly at Rs

17/litre?

° Watch Video Solution

162.P (a, b) is the midpoint of a line segment between axes.

Show that equation of the line is % + % = 2.

| &


https://dl.doubtnut.com/l/_OuwQFiThB390
https://dl.doubtnut.com/l/_xrxlOCwBbjX2
https://dl.doubtnut.com/l/_8oRBldHoM5gK

[ W Watch Video Solution ]

163. Point R (h, k) divides a line segment between the axes m

the ratio 1: 2. Find equation of the line.

o Watch Video Solution

164. By using the concept of equation of a line, prove that

the three points (3, 0), ( — 2, — 2),and(8, 2) are collinear.

o Watch Video Solution

165. Reduce the following equations into slope intercept
form and find their slopes and the y intercepts.(i) x + 7Ty = 0

, (ii) 6z + 3y5 = 0, (jii) y = 0.



https://dl.doubtnut.com/l/_8oRBldHoM5gK
https://dl.doubtnut.com/l/_tIjXT23skyne
https://dl.doubtnut.com/l/_UGqoYnGN3lG4
https://dl.doubtnut.com/l/_Nsdu22lyZWbE

I o Watch Video Solution

166. Reduce the following equations into intercept form and
find their intercepts on the axes(i) 3z + 2yl12 = 0, (ii)

423y = 6, (i) 3y + 2 = 0.

o Watch Video Solution

167. Reduce the following equations into normal form. Find
their perpendicular distances from the origin and angle
between perpendicular and the positive xaxis.(i)

T — /3y + 8 = 0, (ii) y2 = 0, (iii) zy = 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_Nsdu22lyZWbE
https://dl.doubtnut.com/l/_GulywcERLyGA
https://dl.doubtnut.com/l/_epkIXJlOTS0i
https://dl.doubtnut.com/l/_tixwoS3O2NmS

168. Find the distance of the point ( — 1, 1) from the line

12(z + 6) = 5(y — 2).

o Watch Video Solution

169. Find the points of the xaxis, whose distances from the

line % + % — lare 4 unit is.

o Watch Video Solution

170. Find the distance between parallel lines
(i) 152 + 8y 34 = 0 and
152 + 8y + 31 = 0

(i)


https://dl.doubtnut.com/l/_tixwoS3O2NmS
https://dl.doubtnut.com/l/_M7gH3iHy1OO2
https://dl.doubtnut.com/l/_u47iGQl0HO3h

o Watch Video Solution

171. find equation of the line parallel to the line

3z — 4y + 2 = 0 and passing through the point ( — 2, 3).

o Watch Video Solution

172. Find equation of the line perpendicular to the line

T 7y + 5 = 0andhaving x intercept 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_u47iGQl0HO3h
https://dl.doubtnut.com/l/_hmujJLrwpai1
https://dl.doubtnut.com/l/_TmLeWa3wXffo

173. Find angles between the lines /3z +y = land

T+ /3y =1

o Watch Video Solution

174. The line through the points (h, 3) and (4, 1) intersects

the line Tx — 9y — 19 = 0 at right angle. Find the value of A.

o Watch Video Solution

175. Prow that the line through the point (z; > y;) and
parallel to the line Az +By+C =0 is

A(x —z1) + Bly—y;) =0.

o Watch Video Solution



https://dl.doubtnut.com/l/_rhwHxbP7FutE
https://dl.doubtnut.com/l/_4k56xwGI2LMS
https://dl.doubtnut.com/l/_VBefnzJg7pBu

176. Two lines passing through the point (2, 3) intersects each
other at an angle of 600. If slope of one line is 2, find

equation of the other line.

o Watch Video Solution

177. Find the equation of the right bisector of the line

segment joining the points (3,4) and (-1,2).

o Watch Video Solution

178. Find the coordinates of the foot of perpendicular from

the point ( — 1, 3) to the line 3z — 4y — 16 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_5o4umWwscYsm
https://dl.doubtnut.com/l/_whp9is4AXVMG
https://dl.doubtnut.com/l/_8tdcnj8wJINz

179. The perpendicular from the origin to the line
y = mz + ¢ meets it at the point ( — 1, 2). Find the values

of m and c.

o Watch Video Solution

180. If p and q are the lengths of perpendicular from the
origin to the line zcos(f) — ysin(f) = kcos(20) and
z sec(0) + ycosec(f) = k respectively , then prove that

P? +4g% = K2

° Watch Video Solution

181. In the triangle ABC with vertices A (2, 3), B (4, 1) and C (1,

2), find the equation and length of altitude from the vertex A.


https://dl.doubtnut.com/l/_kNjP5ERunxpA
https://dl.doubtnut.com/l/_SdIKCKCepdJy
https://dl.doubtnut.com/l/_e6eh7d2kckYF

° Watch Video Solution

182.If p is the length of perpendicular from the origin to the

line whose intercepts on the axes are a and b, then show

I
tat?—g—l‘ﬁ.

o Watch Video Solution

183. Find the values of k for which the line
(k—3)z— (4— k) y+ k> — Tk +6=0is (a) Parallel to
the xaxis, (b) Parallel to the vaxis, (c) Passing through the

origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_e6eh7d2kckYF
https://dl.doubtnut.com/l/_r0XxsbfSrBFL
https://dl.doubtnut.com/l/_cXbX2pQlTNbW
https://dl.doubtnut.com/l/_dBv4fXkIpKTI

184. Find the values of 6 and p, if the equation
xcos —ysinfd =p is the normal form of the line

V3z+y+2=0.

o Watch Video Solution

185. Find the equations of the lines, which cut-off intercepts
on the axes whose sum and product are 1 and —6 ,

respectively.

o Watch Video Solution

186. What are the points on the yaxis whose distance from

oz Yy .
the line 3 + 1= lis 4 units.

o Watch Video Solution



https://dl.doubtnut.com/l/_dBv4fXkIpKTI
https://dl.doubtnut.com/l/_KhYbd49tQ2bt
https://dl.doubtnut.com/l/_7224t3SVnlmS

187. Find perpendicular distance from the origin of the line

joining the points (cos f, sinf)and (cos ¢, sin ¢).

° Watch Video Solution

188. Find the equation of the line parallel to y-axis and drawn
through the point of intersection of the Ilines

xr—Ty+5=0and3x+y=0.

° Watch Video Solution

189. Find the equation of a line drawn perpendicular to the

line < + Yy _ 1 through the point where it meets the y

4 6

axis.


https://dl.doubtnut.com/l/_7224t3SVnlmS
https://dl.doubtnut.com/l/_SNW66FxU2GcT
https://dl.doubtnut.com/l/_iavP5JeXRkSp
https://dl.doubtnut.com/l/_Rg5UFlcbPKvW

° Watch Video Solution

190. Find the area of the triangle formed by the lines

y—xz=0,z+y=0andx —k=0.

o Watch Video Solution

191. Find the value of p so that the three lines 3z + y2 = 0,

pr + 2y3 = Oand 2zy3 = Omay intersect at one point.

o Watch Video Solution

192. If  three lines whose equations are

Yy = myx + ¢,y = Mo + csand Y = msT + czare


https://dl.doubtnut.com/l/_Rg5UFlcbPKvW
https://dl.doubtnut.com/l/_0aqZui14gEhK
https://dl.doubtnut.com/l/_uRuTGQxwlVIE
https://dl.doubtnut.com/l/_aswDjr0HmFRU

concurrent, then show that

my(cz — c3) + ma(cs — 1) + m3(cr — c2) = 0.

o Watch Video Solution

193. Find the equation of the lines through the point (3, 2)

which make an angle of 45° with the line x — 2y = 3.

o Watch Video Solution

194. Find the equation of the line passing through the point
of intersection of the |lines 4z + 7Ty — 3 = 0and

2z — 3y + 1 = 0 that has equal intercepts on the axes.

o Watch Video Solution



https://dl.doubtnut.com/l/_aswDjr0HmFRU
https://dl.doubtnut.com/l/_VOePQssItEqf
https://dl.doubtnut.com/l/_heFSUuGLSans
https://dl.doubtnut.com/l/_FXeMrWEPnkFV

195. Show that the equation of the passing through the

origin and making an angle 6 with the y =mx + c is

m + tan@
(] 4 +

T 1— mtanf

o Watch Video Solution

196. In what ratio, the line joining +( — 1, 1)and(5,7) is

divided by the line x + y = 47

o Watch Video Solution

197. Find the distance of the line 4x + 7y + 5 = 0 from the

point (1, 2) along the line 2z — y = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_FXeMrWEPnkFV
https://dl.doubtnut.com/l/_7t7T6LWhesrE
https://dl.doubtnut.com/l/_sbmGbtAxgrxg

198. Find the direction in which a straight line must be drawn
through the point ( — 1, 2) so that its point of intersection
with the line x 4+ y = 4 may be at a distance of 3 units from

this point.

° View Text Solution

199. The hypotenuse of a right angled triangle has its ends at
the points (1, 3)and( 4, 1).Find the equation of the

legs (perpendicular sides) of the triangle.

° Watch Video Solution

200. Find the image of the point (3, 8)with respect to the

line z + 3y = Tassuming the line to be a plane mirror.


https://dl.doubtnut.com/l/_kXhqs1qCO4r1
https://dl.doubtnut.com/l/_Trf5rQkLfZOE
https://dl.doubtnut.com/l/_Od6mrpIrFn3R

° Watch Video Solution

201. If the lines y =3z + 1 and 2y = = 4+ 3 are equally

inclined to the line y = mz + 4, find the value of m.

° Watch Video Solution

202. If sum of the perpendicular distances of a variable point
P(z,y) from the lines z +y5=0 and 322y + 7 =0 is

always 10. Show that P must move on a line.

o Watch Video Solution



https://dl.doubtnut.com/l/_Od6mrpIrFn3R
https://dl.doubtnut.com/l/_7VEyHM7uSJbM
https://dl.doubtnut.com/l/_jypoTgACZhg6

203. Find equation of the line which is equidistant from
parallel lines 9z + 6y 7T =0 and

3r + 2y +6 = 0.

o Watch Video Solution

204. A ray of light passing through the point P(1,2) reflects on
the x-axis at the point A and the reflected ray passes through

the point Q(5,3).Find the coordinates of the point A.

° Watch Video Solution

205. Prove that the product of the lengths of the

perpendiculars drawn from the points ( a’ —b2,0>and

( —JaE — v o)to the line %cos@ + %sin@ — 1is B2,


https://dl.doubtnut.com/l/_veuYEpACJbOq
https://dl.doubtnut.com/l/_1M7Bpq2JeCez
https://dl.doubtnut.com/l/_etzGZUY9a4wU

° Watch Video Solution

206. A person standing at the junction (crossing) of two
straight  paths  represented by the equations
2r —3y+4 =0 and 3x + 4y — 5 = 0 wants to reach the
path whose equation is 6z — 7y + 8 = 0 in the least time.

Find equation of the path that he should follow.

o Watch Video Solution



https://dl.doubtnut.com/l/_etzGZUY9a4wU
https://dl.doubtnut.com/l/_VsAel7LokR7f

